AN 6 A EER LA SE @ PR IR B SR N E B B O A B @ [ T ] BEEANR (BEEEZR)

(WS4 H D () %> () 1F, 5~30% IR T D, NBIC OV TN E )

F £ BN o g o F E2 BERIAZE] g
R AN 3 — R O|EEER|EAKN %lﬁ)\g ¥R 4K 3 — R O|EEER|EAKN }igé}\g
A %] 2 EH - 4 5| %, EEH |7 -

i (16) - (16 F2 i 80 -
el e E'%tf i# 320 - 320 Eim< 1+ > 40 20} 120

. o (8) - (8) s 3 < (R A R — Y > 40 20
@’“Tﬁ%’“%ﬁf i# 280 117 163 E\%EP%% B 40 32 8
i e (16) - (16 & B 40 32 8
Bl 155 2R e & 320 -l 320 & 4k 40 32 8
(12) -l (2 (10) -l 0
W L — =% i# 240 0} 280 ES 5| bl 200 —T 220

% £ 80 40 % £ 40 20
[ A = B 320 56 264 o e | o & 120 60 60
®) T FTEENC o 5 % 40 31 9
T A i 160 fl 178 % ik 80 64 16
[ - 40 22 CoA SR i T4 80 64 16
il * 80 64 16 £ B T ¥E|E = 80 64 16
W = : (32) 9 (23) T X b % 40 27 13
A i# 160 80 80 TXALANTEE 40 32 8
B X B F 40 32 8 % [ 80 64 16
= B % 40 32 8 5 A 80 64 16
=R EE OE OB 40 32 8 KE T ¥EE @® #H Iy 40 32 8
=¥ + K 40 27 13 T % { = 40 32 8
- 40 32 8 Jais e 40 32 8

= * 40 32 8 [ * 200 150
¥ O M 40 32 8 B HoE ¥ BOR W 40 30} 80

Bill g B 7 A v 40 32 8 I S 80 60
% B 40 32 8 EEE R AEYN SR 160 128 32
R T YA v 40 32 8 @) - @)
£ W A B 40 32 8 A 1L H 200 55 145
WOF B = B % 40 32 8 B P 40 40 0
T VA v 40 32 8 A H 120 - 120
& ik 80 64 16 woL HAE W R B 40 30 10
e W 40 32 8 A E 40 30 10
oW B 40 32 8 % ik 40 28 12
WL T ¥ % I % 40 32 8 7Ry b EA 40 28 12
+ S 40 32 8 . w| L % b % 40 28 12
at e 40 32 8 HEL + N 40 28 12
> A v 40 32 8 & £ 40 28 12
& [ 80 64 A 40 28 12
A SR i T4 80 64} 40 ‘Zim%ﬁ;%i& v Y x = 80 64 32

O LT 2| = 40 32 " i A W 80 64
HE Y AT A 40 32 8 = P (24) - (24)
T ¥ ﬂ:ﬁ = 40 32 8 ; ’ E i 160 - 160
, w B Y 3 A Al & 240 192 64 Pt b} 120 - 120
A LA BHE YRR 80 64I E B ¢ |1 W 40 30 10
P4 ¥ 80 64 16 % G 80 80 0
R 40 32 8 e i (16) -l (e)
oL omEE w2 80 64 16 - i bl 160 - 160
U o < | 4 80 64 16 A 40 31 8
R T A v 40 32 8 T ¥EE OKON O #W 40 20 20
XX VT TH A 120 96 24 B OBE + K 40 28 12
il (L AH | [ B e 22 R A EALEE AREN YR 120 96 24
35k 1% @ R S — = N , (6) 6 (5)
e 16 - 16 i i} 120 60 60
Il e & 3920 - 3920 I it MR < 7Y~ 54 7> 20 20 0
(5) — (5) WA <t a—vy 47> 20 20 0
B R W i 200 92 108 (10) - (10
il Ei 40 40 0 # | i 200 - 200
& W M. } (16) - e E B 40 32 8
i i# 320 - 320 B mE ] 240 51 189

i (14) -l (9
RBCE I g i 280 | 280




(ifi~7 4 B Hfil)

|

# g2 BERIASE| 0 s BEHIASE g e
R AK 3 — A DIEEER|EAHEN %lﬁ)\; E e A S| BHEE B |5 a N Egé)\g
3 %] %, EHEK = EEHR |
o o | it 120 60 60 |MILEAEAER & F F 160 136 24
™ e B 40 32 8 |Lwp g |E © 2 M 80 14 36
E5 = 10 20 20 s AT e ik 40 32 8
ERENET v o4 v 35 28 7
BORE OB % 40 32 8 2t 280 212 68
A ® 80 36 44
Fe RlIAE % A& 30 15 15 (FE) o LA 5 0 5 2 D — R NSRRI, BEEEE D
T % 35 17 18 FERIA RS PES S (BRI A2 R [69A] | fFaei
@ A R S
i Al Ak 5| | RE MR Ak SR B
B - R XRS5
T 3 Bl % H
N 7 Fio ‘ i# 40 20 20 (BT BB
R A A S 80 64 16 BN oy o
®) ) @) ¥R 4R % | SEETE B S ath N %&@\g
i | bt} 160 80 80 EHH B
Eodm Grl k) 40 17 23 & b Atom (B ER) 100 50 50
T = 4 PE 40 25 15 Wl (R ) 40 13 27
=1 b S R S 40 22 18
& & 40 13 27 it 140 63 77
HK kS M 120 60 60
N 120 60 60 (1) BREEO BAFERYT (5 18] | "EESO—RAY
TR e R S | FIBENE LBIA] ICEHT 5. e
q]'% ji FHAL L o 4T RS ((}:2) 1@3‘1%B®4%]\%%%{\Q0i\ %Eﬁéﬁﬁ‘bﬁﬁgu)&‘%%ﬁ\
S - o - (AT FEPVER S (REBIAGERIRN [120] | RO 557
Rl ANgFEY [IA] ) &ZELEVWE B0,
Jtt Lk 2R %J 80 40 40
e PR 1H
MRWAE L vy 7% 40 27 13
5 B ¥ ] & 80 40 40 (717 7 2 W)
b2 LR A A S 40 30 10 BN oy o
R . 120 60 60| |# & 4|H A | BT B SO e
I N EEE T
" = % 7l wt g s | m (B[R] ) 60 30 30
N [ el RC D 30 10| 320
H & #H % 7 £ B M AR (BRI 95 47 48
S H RAYR R 25 6 19
(224) an] (13) . Eiw (3fEa—=) 40 20 20
it 10, 660| 4,909| 5,750 i 1 il (42 —2R) 40 10 30
(FE) —MAZEEME BT, BUEE A DRSS BNES =t 290 123 167
B CREMAFHIRK [4,6000] | WHREAROT DO
KNI i e Tt ikt (1) ISR R B0 BAFAB01 (
Laln b o, AR B AR D BT O — R AR (41

W1 . WEEO— A RKE BEITY] 1ICEET 5,
BB R EER ORI O — I NFFEENE T, 55
EEENDFNAFFESHNET I BRI ZRK
[%{\]7; %ﬁﬁﬁﬂ%ﬂﬁﬁ‘%@@%ﬁﬁi)\?%%ﬁ [IA] ) %%
Lalnwi=d o,



